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Questions 6-9 are based on the following
passages.

Passage 1 is an excerpt from a lecture by American
humorist Mark Twain; Puassage 2, an excerpt from
an essay by English author and critic G. K.

Chesterton.
!

Passage 1

There are several kinds of stories, but only
one difficult kind—the humorous. The humor-
ous story is American; the comic story,

Line English; the witty story, French. The humor-

(5) ous story depends for its effect upon the man-

ner of the telling; the comic story and the
witty story upon the matter. The humorous
story may be spun out to great length, and
may wander around as much as it pleases, and

(10) arrive nowhere in particular; but the comic
and witty stories must be brief and end with a
point. The humorous story bubbles gently
along; the others burst.

Passage 2

Line  American humor, neither transfiguringly

(15) lucid and appropriate like the French, nor
sharp and sensible like the Scotch, is simply
the humor of imagination. It consists in piling
towers on towers and mountains on mountains;
of heaping a joke up to the stars and extending

(20) it to the end of the world. With this distinc-
tively American humor Bret Harte had little or
nothing in common. The wild, sky-breaking
humor of America has its fine qualities, but it
must in the nature of things be deficient in two

(25) qualities, not only supremely important to life
and letters, but also supremely important to
humor—reverence and sympathy. And these
two qualities were knit into the closest texture
of Bret Harte’s humor.

~
. Which of the following most resemble,

the humorous story as described iy,
Passage 1?

(A) A paradox

(B) A fairy tale

(C) An allegory

(D) A shaggy-dog story
(E) An amusing limerick

. In stating that “The humorous story

bubbles gently along; the others burs; ”
the author of Passage 1 is speaking

(A) melodramatically
(B) hypothetically
(C) metaphorically
(D) nostalgically

(E) analytically

. Which generalization about American

humor is supported by both passages?

(A) It is witty and to the point.

(B) It demonstrates greater sophistication
than French humor.

(O It depends on a lengthy buildup.

(D) It is by definition self-contradictory.

(E) It depends on the subject matter for
its effect.
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